Lots 401 - 410



Lot #401: Italian Rococo Inlaid Fruitwood Oval-Top Side Table 29 1/2 x 25 x 20 in. Estimate: \$ 400.00 - \$ 800.00



Lot #402: 17th Century-Style Embossed and Painted Four-Panel Folding Screen, Modern 95 3/4 x 96 in. Estimate: \$ 1500.00 - \$ 2000.00



Lot #403: Louis XVI-Style Painted Leather-Upholstered Fauteuil de Bureau 31 3/4 x 23 in. Estimate: \$ 300.00 - \$ 600.00



Lot #404: Neoclassical-Style Giltwood Oval Wall Mirror 38 1/2 x 28 1/2 in. Estimate: \$ 200.00 - \$ 300.00



Lot #405: Victorian-Style Barrel-Back Club Chair 34 x 31 in. Estimate: \$ 200.00 - \$ 300.00



Lot #406: Louis XV-Style Carved Beechwood Canapé 43 1/4 x 55 1/2 in. Estimate: \$ 600.00 - \$ 800.00



Lot #407: Tôle-Peinte Oval Tray on Stand, Modern Stand 18 1/2 in., tray 26 x 20 in. Estimate: \$ 150.00 - \$ 200.00



Lot #408: Victorian-Style Green Marble and Brass Pedestal 38 1/2 in., 12 in. diam. Estimate: \$ 200.00 - \$ 400.00



Lot #409: Two Wrought-Iron Low Tables With marble or glass top; 14 1/2 in., 18 1/4 in. diam. and 15 in., 30 in. diam. Estimate: \$ 50.00 - \$ 75.00



Lot #410: Late Federal-Style Mahogany Leather-Inset Card Table 29 1/2 x 31 1/2 x 31 1/2 in. Estimate: \$ 250.00 - \$ 500.00

Back

Lots 411 - 420



Lot #411: Pair of William IV Carved Mahogany Gout Stools 8 1/4 x 14 x 12 1/4 in. Estimate: \$ 400.00 - \$ 600.00



Lot #412: Louis-Philippe Style Figured Walnut Chest on Chest 60 1/2 x 35 in. Estimate: \$ 500.00 - \$ 700.00



Lot #413: Spanish Baroque-Style Oak Center Table 28 3/4 x 78 3/4 x 33 3/8 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #414: Empire Gilt-Metal Mounted Mahogany Marble-Top Table de Nuit 32 1/2 x 17 1/2 x 17 1/2 in. Estimate: \$400.00 - \$800.00



Lot #415: George II-Style Carved Mahogany Games Table 28 1/2 x 29 1/2 x 14 1/2 in. (29 in. open). Estimate: \$ 50.00 - \$ 75.00



Lot #416: Contemporary Painted Armoire with a Pair of Matching Cabinets Armoire 90 x 18 1/4 x 36 in., cabinets 28 1/2 x 27 1/4 x 16 1/2 in. Estimate: \$ 500.00 - \$ 700.00



Lot #417: Pair of Contemporary Painted Two-Panel Folding Screens 90 x 52 1/2 in. Estimate: \$ 1500.00 - \$ 3000.00



Lot #418: Federal-Style Maple Stand 27 1/4 x 17 1/2 x 17 in. Estimate: \$ 150.00 - \$ 250.00



Lot #419: Louis XV-Style Carved and Painted Bérgère 37 x 30 in. Estimate: \$ 400.00 - \$ 600.00



Lot #420: Chinoiserie-Style Painted Three-Panel Folding Screen, Modern 65 1/2 x 74 in. Estimate: \$ 700.00 - \$ 900.00

Lots 421 - 430



Lot #421: Louis-Philippe Mahogany Table de Nuit with Tambour Slide 27 3/4 x 13 1/2 x 11 1/2 in. Estimate: \$ 150.00 - \$ 250.00



Lot #422: George III Mahogany Drop-Leaf Table 28 1/2 x 22 3/4 (68 in. open) x 47 in. Estimate: \$ 500.00 - \$ 800.00



Lot #423: Pair of Contemporary Patinated Metal Vitrines 7 ft. 9 in. x 36 in. x 14 in. Estimate: \$ 500.00 - \$ 1000.00



Lot #424: Contemporary White-Painted Latticework Plant Stand 30 x 39 x 15 in. Estimate: \$ 200.00 - \$ 300.00



Lot #425: Chinese Polychrome Decorated Black-Ground Porcelain Garden Seat, Modern 17 3/4 in., 12 1/2 in. diam. Estimate: \$ 100.00 - \$ 200.00



Lot #426: Set of Six Louis XV-Style Painted Side Chairs, Modern 38 1/2 x 19 3/4 in. Estimate: \$ 1000.00 - \$ 1500.00



Lot #427: Japanese Ivory and Mother-of-Pearl Inlaid Lacquer Two-Panel Folding Screen 72 x 66 1/2 in. Estimate: \$ 400.00 - \$ 800.00



Lot #428: Two Louis XV-Style White Painted Repose-Pieds 22 1/2 to 27 1/2 x 21 1/2 to 23 in. Estimate: \$ 200.00 - \$ 400.00



Lot #429: Two Painted Benches, Green-Painted Windsor Chair, Two Side Tables and a Painted Trestle Table Trestle table 30 x 36 x 24 in., windsor chair 29 1/2 x 23 in. Estimate: \$ 500.00 - \$ 800.00



Lot #430: Regency Ebonized and Parcel-Gilt Armchair and a Similar Armchair 33 x 20 1/4 and 33 3/4 x 21 1/4 in. Estimate: \$ 1000.00 - \$ 2000.00

Lots 431 - 440



Lot #431: Black-Painted Garden Bench 38 3/4 x 54 x 22 in. Estimate: \$ 300.00 - \$ 600.00



Lot #432: Regency Brass-Inlaid Mahogany Sewing Table with Pleated Basket and Screen 28 3/4 x 20 x 15 in. Estimate: \$ 500.00 - \$ 800.00



Lot #433: Louis XVI-Style Gilt-Metal Mounted Mahogany Console Desserte 34 3/4 x 26 3/4 x 15 1/4 in. Estimate: \$ 125.00 - \$ 250.00



Lot #434: George III-Style Stained Pine Bookcase Cabinet 88 x 51 1/2 x 11 in. Estimate: \$ 1000.00 - \$ 2000.00



Lot #435: Louis XVI-Style Gilt-Metal Mounted Mahogany Marble-Top Gueridon 29 in., 15 3/4 in. diam. Estimate: \$ 600.00 - \$ 800.00



Lot #436: Grain-Painted and Stenciled Cupboard with Shelves, Modern 43 x 19 3/4 x 10 3/4 in. Estimate: \$ 300.00 - \$ 500.00



Lot #437: Federal-Style Firescreen 57 1/4 x 19 x 18 1/2 in. Estimate: \$ 50.00 - \$ 75.00



Lot #438: Louis XV Gilt-Metal Mounted Kingwood Bureau en Pente 40 3/4 in. Estimate: \$ 1500.00 - \$ 3000.00



Lot #439: Chinese Red Lacquer Low Table

13 1/4 x 64 1/4 x 37 3/4 in. Provenance: Property from a Long Island Estate. Estimate: \$ 300.00 - \$ 500.00



Lot #440: George III-Style Pinewood Linen Press

79 3/4 x 54 x 21 in. Estimate: \$ 1000.00 - \$ 1500.00

Back

Lots 441 - 450



Lot #441: Italian Pietra Dura, Marble and Brass Occasional Table 17 1/4 in., 12 in. diam. Estimate: \$ 200.00 - \$ 400.00



Lot #442: Chippendale-Style Carved Mahogany Miniature Armchair and Side Chair Together with a Louis XV-style carved beechwood miniature fauteuil and a Chippendale-style carved mahogany miniature wing chair; 25 1/2 to 27 in. Estimate: \$ 700.00 - \$ 900.00



Lot #443: Two Louis XV-Style Carved Beechwood Needlework-Upholstered Fauteuils 37 x 23 1/2 in. and 32 1/2 x 23 1/2 in. Estimate: \$ 200.00 - \$ 400.00



Lot #444: Japanese Black Lacquer and Gilt Low Shrine Table 15 1/4 x 33 1/2 x 14 in. Provenance: Property from a Long Island Estate. Estimate: \$ 200.00 - \$ 400.00



Lot #445: George III Mahogany Drop-Leaf Table 27 3/4 x 20 1/2 (36 1/2 in. open) x 33 in. Estimate: \$ 250.00 - \$ 500.00



Lot #446: Louis-Philippe Mahogany Lit en Bateau 34 x 34 1/4 x 75 1/4 in. Estimate: \$ 300.00 - \$ 500.00



Lot #447: George III Mahogany Long-Case Clock Signed by Archibald Miller, Newton-Stewart; 86 1/2 x 18 x 9 1/8 in.

Estimate: \$ 800.00 - \$ 1200.00



Lot #448: Chinese Painted Silk Six-Panel Folding Screen 67 x 139 1/2 in. Provenance: Property from a Long Island Estate. Estimate: \$ 500.00 - \$ 800.00



Lot #449: Pair of Contemporary Chintz-Upholstered Sofas Each 32 x 82 in. Estimate: \$ 1000.00 - \$ 2000.00



Lot #450: Late Classical-Style Carved Mahogany Dining Table 29 1/4 x 66 1/2 x 66 1/2 in. Estimate: \$ 800.00 - \$ 1200.00

END OF AUCTION

Back